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[edit]
useriEfi# show protocols bgp
group ebgp {
type external;
multihop;

local—address 1.1.1.1;
pesr—-a= B5222;
neighbor 172.16.1.2;

}

[edit]
user@il# show rooting-options
static {

route 172.16.1.2/32 next-hop 1.1.1.1;

}
router—-id 10.222.1.1;

autonomous—system £§5221;

-- Exhibit -

Click the Exhibit button.

You are asked to configure a multihop EBGP peering to a loopback address of your ISP. The peering does

not establish, and the ISP has verified that the settings are correct on their side.
Referring to the exhibit, what is causing the problem?

A. The peer-as parameter is misconfigured.

B. The local-address parameter is misconfigured.

C. The static route is misconfigured.

D. The neighbor parameter is misconfigured.

Correct Answer: C
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QUESTION 2
The exhibit shows the BGP configuration for a router. The router should be receiving an identical set of prefixes over its

two peering sessions. You want to ensure the router is using both routes for forwarding. Which command will show this
information?

protocels |
bgp {
group i1sp3 {
peer—as 13050154;
multipath maltiple—-as;
neighbor 1.2.3.4;
neighbor 4.3.2.1;

A. show bgp neighbor

B. show route forwarding-table

C. show route protocol bgp

D. show route receive-protocol bgp

Correct Answer: B

QUESTION 3
You have configured OSPF between two routers and the adjacency is not coming up. You confirm that the physical link

between them is up and then run the commands shown in the exhibit on both routers. Which two configuration mistakes
apply? (Choose two.)
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user@Rl> show ospf interface

Interface State Area DR ID BDR ID Nbrs
fe-0/0/1_0 jny=4 0.0 6_1%1 s [ e el . 0. 0.0 0

Type: LAN, Address: 10.50.10.26, Mask: 255.255.255.2532, MTO: 1500, Coat: 1
DR addr: 10.50.10.26, Priority: 128

2d] count: 0

Hello: 10, Dead: 40, ReXmit: 5, Mot Stub

Auth type: None

PrulecLlion Lype: Noae

Topology default (ID Q) -> Cost: O

user@R2> show ospf interface

Interface SBtate BArea DR ID BEDR ID Nbrs
te-0/0/2.0 DR 0.0.0.2 B s B s U.0.0.0 L

Type: LAN, Address: 10.30.10.25, Mask: 255.255.255.252, MTU: 1500, Cest: 1
DR addr: 10.50.10.25, Priority: 128

2dj] count: 0

Hello: 20, Dead: 80, ReXmit: 5, Not Stub

uth type: None

Protection type: None

Topology default (I 0) —-> Cost: 1
A. The hello timer is mismatched.
B. The subnet is mismatched.
C. The DR ID is mismatched.
D. The area ID is mismatched.

Correct Answer: AD

QUESTION 4

-- Exhibit -- Exhibit -Click the Exhibit button. You are asked to assist with a problem with a new EBGP peering between
Site 1 and Site 2. Referring to
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-7T AS T EBGP 2T AS TSl
o 65001 . T At 65002 »
/ RL pgp B 7 o IBGP 4
T ~ N
| Z Internet :
1
A ¥y
Y site1,” *\Site2 | 100.100.0/16

= - b -
e - -

uascBR3> show bop summscy
Groupa: & Peers: I Down pesrsa: 0

Table Tot Paths Ror Patha Suppresssd Histery Damp Scate Pending
insc.0
. 5} g o 0 a
Pear i3 InFkt CucPikc Curd Flaps Lasc Tp/Dwn
Stace| jhorive/Aecelvead/Acceprad /Tampsed. . .
172.323.0.1 B5501 3 3 i o 3 aora/0 orasora
192.168.1.2 E5502 2 [ o 0 1:52 @/5/35/0 e L Pl

nssrfA3d> shaw route advertising-prococol bgp 172.22.0.1
nserfA3i> show roote 100.1090.0.0/16 terse

inet,.0: 14 destinacions, 19 rootes (14 accive, 0 holddown, U hidden)

+ = Rotive Route, - = Last Rctiwve, * = Both
A Destination P Pt Metric 1 Metric 2 HNext hop A% path
# 100.100.0.0/24 0 150 ] >172.24.0.2

B 17 100 >172.24.0.2 I
& 100.100.1.90/24 0 150 0 >172.34.0.2

B 170 100 >172.34.0.2 I
* 100.100.2.0/24 o 153 0 *172.34.0.3

B 173 100 *»172.24.0.3 I
& 100.100.3.0/24 Q 153 i »172.24.0.2

B 170 100 ¥172.24.0.2 I
* 100.100.4.03/24 0 153 i »172.24.0.2

B 170 100 >172.324.0.2 I

the exhibit, Site 1 is not receiving the 100.100.0.0/16 routes from Site 2. Which action will resolve the problem?
A. Enable the advertise-inactive parameter for the EBGP peering.

B. Enable the as-override parameter for the EBGP peering.

C. Create an export policy to export the IBGP routes over the EBGP peering.

D. Create a next-hop-self policy and apply it as an export policy to the EBGP peering.

Correct Answer: A

QUESTION 5

Your Junos device is dropping certain traffic flows, while allowing other traffic flows to pass through the device
unaffected.

Which CoS component is causing this problem?
A. BA classification
B. RED

C. MF classification
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D. Rewrite rules

Correct Answer: D
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